comtimue that couwnts.” - Winston Churchill
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These are the topics that you have covered so far this year. These topics, if they appear on
the assessment will be the ones that your teacher will be looking closely at how well you
answer them.

4 Operations U293, U453, U868, U417, U478, U735, U127

Rounding & Estimating U480, U298, U731, U965, U225

U351, U993

Perimeter

U993, U265, U970, U945, U424

Area

U142, U464, U523, U893, U929, U259, U871

Surface Area

U786, U174,U484, U?15,U116, U617

Volume

U221, U373, U767, U604, U950

Area & Circumference of Circles and Arcs

Factors, Multiples & Primes U211, U236

U739

Prime Factorisation

NOTE: There will be other topics covered in the assessments, some are untaught topics, some are
topics that have been taught at KS3. This is to help you work on your exam skills of scanning for the
questions you are able to access which is a key skill to do well in your maths GCSE exam.

‘Buccess bmnt smervnight. Ss when emerwy, dan, yew get a little
better tham the dan, before. Gt all adds up” - Dwayne Johnson




How to Log Into Sparx Maths

Sparx Maths

Student Login
You're logging in to Sparx at Ormiston Chadwick Academy.
Not your school?

Log in using your
username and Log in to Sparx using Microsoft gm

password.

Your username will or
usually be your name
and surname without Use your Sparx login

spaces. If you are

Username: logged into

00

Click the button again in a short while and it will then let you

your school emails
on the device,

you can just click
Password: this button to log in

Forgotten Sparx login details?

New Sparx user?.
If you have never

logged in before,
click this button
and follow the steps

If you can’t remember your password,
click this button and type in your details — this will send an
email fo your teacher getting them to reset your password.

reset your password (make it memorable)

You will then be brought to the following page where you will find any compulsory homework set for you by your teacher —
you need to be completing this weekly to ensure you are retrieving the knowledge that you have learnt throughout the year.

Compulsory

Sparx Maths OXP Teacher ()

o Hey Teacher,

This is your personalised Compulsory homewaork. You need to answer every question correctly to complete it

4

b Bt A Introducing Sparx Maths

About Sparx Maths Try some questions Sparx Maths Tips
) ] (x3s) (about § minutes) ) (039)

Target
Start > Locked @ Locked @

Independent

Learning

If you haven’t been
on Sparx Maths yet this year,
you will need to do this short
tutorial to help you understand
how the website works.




How to do Sparx Maths independent Practice

OXP Teacher (1

Sparx Maths
On this dropdown, you can change
* the curriculum level (Sparx Maths
Hey TeaCherl sometimes categorises things at a

This is your personalised Compulsory homework. You different stage than we do)

Compulsory

&

XP Boost A Introducing Sparx Maths

About Sparx Maths Try some questions Sparx Maths Tips
o = (35) (about 5 minutes) ) (039)

Target
s & s &

19 You can change
the difficulty
level to suit your
confidence level

Independent
Learning

From the
homepage, click
the ‘Independent
Learning’ tab to

open this page.

Sparx Maths  independant OXP Toacher

Independent Learning

code from Search for topics: Your curriculum: Dofault lovot

’ the revision wosd 2 Key Stago 3 v
- list to bring

Target 1 topic found

up the

v revision for

Clear search
e

ng @ written method to divide integers - M364

Independent that iopic

Ratio and Proportion Geometry

Probability

< OXP Teacher

Sparx Maths dspesent Learmng
Independent learning + Number + Dividing

Using a written method to divide integers

~ Show building blocks
This will
bring up

the task —
click on Quacton] ——_— ) If you are finding it difficult

each s | (Aramar) (Anawar Anower you can try some of the
question to o o = ‘building blocks’ tasks w hich
revise the will help you with the prior
topic in il — fuetion futens knowledge youneed to

more suengthen  (Aneer) (dnmer ! access the main task

depth

Using a written method to divide integers

GQuestion | Question 2 Question 3

( Answer | Answer Answor




How to complete a Sparx Maths task

BEFORE beginning the task you need to have paper to do your working
out and to write down the bookwork codes.

< SparxMaths wdspendent Leaming X Tascher [I =

Independent learning + Numbaer - Dividing

Using a written method to divide integers - 111204

~ Show building blocks.
This will
bring up
the task —
click on If you are finding it difficult
each I you can try some of the
question to ‘building blocks’ tasks which
revise the will help you with the prior

Question | Question 2 Question 3

Using a written method to divide integers

Question | Question 2 Question 3
L}

(Answer ( Anawer ) Answer

knowledge youneed to
access the main task

topic in al
more Strengthen
depth

( Answer ( Anawer ) Answer

Guestion! Quettion2 Guestion3
il

Despen (Answer ( Anawer ) Answor

Write down the bookw ork
code before starting the
question (you will be
asked for this later)

Copy out the calculation below as neatly as you can. Work out the
answer.

Work out the answer
,‘N A oald B <~ | on your paper, note
T"-f it down then dlick
If you are stuck, watch the T here to type in your
video which will be a similar
question with different
numbers — make notes to

answer

help you understand and Kizoom

then try the question again ¢« Watch video




“Mistakes are the stepping stenes to uisdem.” — Oprah Winfrey

e.q. Find % of 12

STEP 1: Divide the amount by the
denominator (bottom number)

STEP 1: Multiply the answer by
the numerator

4x2=8

TIP: To find a percentage
of an amount:

Percentage * Amount = 100

Find 82% of 444.
82 x 444 +100 = 364.08

1B When answering a ratio question, think
carefully about which part of the
infarmation you haue beer. given. (In this
example, it is the difference):

-

Paul and Luke share some money in the

vatio 4:7. Paul gets £12 less than Luke.
How much did they have in total?

P: L Total Difference
IS

44 12

Thej had £44 in total

Tib: When thers are 3 numbers in the
vatia, only include a difference column

when it says ‘less/more than'
L -

TiP: when substituting,
‘swap’ the letter for the
namber (use brackets)

g.a.
3a + 2b given that
a=3b=4
3(3)+2(4)=9+8=17

T1: Multiply the number
outside the bracket by the |
number inside the bracket |

Tip: To simrxlifj an expressior\,
collect 'like’ terms

4a+b - 6a - 3b

TiP: Use a number line to help
with the negatives

TiP: To find the time passed,
count to the next hour, then the
hour needed, then the final time

e.g.
How many minutes are
between 5:24pm and 7:10pm?

+ 36 mins + 60 mins + 10 mins

T
S:24pm  6:00pm  T:00pm 7:10pm

26+ 60+ 10 =106 mins

Avea =T X 12

TIP: Radius is
hal{—'wa:,. diameter is
all the way across

= 82
= 64T cm? (in terms uf )
=201.06cm? (2d.p.)

Tip: If you are given the diameter,
remember to halve to find the radius

T1P: Factors are numbers that fit

into a number without remainders
eg.

List the factors of 36

Find the numbers that ‘multiply to
make 36
1=36 =36
2x18 =36 So the factors are
Sx12m36 1,2,3,4,5,9,
4x0=136 12,18,36
6x6=36

TIP: Do them in this order so
you don't miss any out

TIP: To solve an equation we need
to find the value of the letter

Solve 8a—5 =11

TIP: To keep +5 |+5
the equation
balanced, do 83 16
thesameto +8 +8
bothsides
a=2

TiIP: Ifthe numberdoesn’tdivide
evenly, writeasa fraction

T1p: Multiples are the
numbers in your times tables

The multiples of 6 are
6,12,18,24, 30, ...

What is the 7th multiple of 62
7x6=42

What is the 10 multiple of 167
10 x 16 = 160

E.g.
Factorise 4a + 20
Tip: Think of the highest
common factor of both terms

The HCF of 4a and 20 is 4
So divide both terms by 4

Tib: Use the grid method

to expand the brackets
e.a.

Expand 5(3x + 4)

*|’5x + 4

5 |15x + 20

=15x + 20

1,2,3,4  “Round down/off*

[ T2 Dram the rounding tine |
after the ‘rounding column’ |

eg.
Round 7562 to the nearest 100
75 ? 2
=7600

eg.
Round 18 322 to the nearest 1000
y
18329

TiE: When roun
on the left of the romnding ‘

g the same {the ones on the
vight became zeror) |

dowr the |

standard form is a number written
in the form:

T2 o s btwren & e, |
| the power is negative (the |
[ negutie e mcsen i) |

Express 43 000000
in standard farm

43000000 = 4.3 =10 000 000

—

Area of a Rectangle:
The area of o rectangle s
base » height

Areacfa Triangle:
The area of a triangle is
e porpandicalas height * |

I‘ Arenofe trapeinm:
Holf the sum f the parallelsides,
| then times the height betueen them,
| That is how to calculate
| The arca of a rapesiam (

The most important thing to remember is not to give up — if you write nothing for a question, you will
definitely get it wrong, so have a guess, you will get marks for working out.
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